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BIER HE R L A R R (1 4m) B KRR
% i Rk - BT B = i ® #E&

EEIRE 7. 950, 040
MEIER 2,570, 124 + 2,677,381 5, 247, 505
HERER (B) 1,808,511 + 761.613 2,570,124
HEAREE (®E) 1,808,511
HERRRE () 7,950,040 x 9.58% (7.58% x1.00 +2.00%) 761, 613
RBEER 10,520, 164 x 25.45% (23.95% +1.50%) 2,677, 381
—REERE 13,197,545 x 21.69% (21.48% x 1.01) — 92 2,862, 455
BKEEIEME 7,950,040 + 5,247,605 + 2,862,455 16, 060, 000
HERSHELE 16,060,000 x 10.00% 1, 606, 000
BRKREIER 16,060,000 + 1,606, 000 17, 666, 000




BERARE YERAE LA K BB (—14m) FHKIFE

& F R - BRTE B B H @ & & B =

BEEIRE 7,950, 040
BKEEXRE 7. 950, 040
KR ERFE 7,950, 040
BKEFE 7,750, 040
R 321, 668
1 E%4R 58.00 5,546 321, 668

i
KRR 7,329, 279
2 BAKEFEE (1IR) 7,638.00 807 6,083, 166

m 2
3 EKEE (2IRK) 1,353.00 921 1,246, 113

m2
R 99, 093
4 MESER 1.00 99, 093 99,093

==
EEER 200, 000
[FZ 200, 000
5 RBRRS 1.00 200, 000 200, 000
=

HERBE (FEL) 1,808, 511
HiE R 1,808, 511
HERER 1,808, 511
z228 1,742, 931




BEHEAREK

YERAE LA K BB (—14m) FHKIFE

REHE

1,742, 931
6 BEEHRM 1.00 1,742,931 1,742, 931
=
KE - BESRIHE 28,180
KE REER 9,090
T KERERE 1.00 9.090 9,090
=
B REE R 19,090
8 BERERE 1.00 19, 090 19, 090
=
BiEER 37,400
i g 37, 400
9 EIEERE 1.00 37, 400 37, 400
=X
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51
B BiE 1TEHY (284h8)
£ b B - BKTiE B4r & B & wmE " &
EE A
=] 1.00 3,282.00 3.282(2.00H / 8H
RIS FRP D 70PSE!
=] 1.00 44,771.00 44, 771|8H
2 HEm
A 1.00 42,200.00 42,200
R HEm
A 1.00 32,400.00 32,400
RIEENF
A 1.00 31,100.00 31,100
MAH 2E0%
% 1.00 153,753.00 1,537
= Bt YE¥EED - 28. 00Hh 5.546.00 155,290
5.2
AF EBKEE (1IK) 1B8HY (238.1m2)
£ b g - BTk BfF -y i ) W OE " =
Bk D 270PSE! 3~5t/
B 1.00 167,319.00 167, 319|8H
BEEEH kX 208
B 1.00 19, 305.00 19, 305
MAH 2E0%
% 3.00 186, 624. 00 5,598
= E YE¥EEH - 238.10m 2 807.00 192,222
5.3
BF . EKERE (2IK) 18&Y (187.1m2)
£ i g - BkTiE BAr 2 B M ) wOE " =
Bk D 270PSE! 3~5t/
=] 1.00 167, 319.00 167, 319|8H
MAH 2E0%
% 3.00 167, 319.00 5,019
= Bt YE¥EEDN : 187. 10m 2 921.00 172,338
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554
B RESFHRL =R
£ b B - BKTiE B4r o 8 B * & W E " &
BIEEEHEE
A 0.50 48, 000. 00 24,000
2 HEm
A 1.00 42,200.00 42,200
R HEm
A 1.00 32,400.00 32,400
MAH 2E0%
% 0.50 98, 600.00 493
= Bt YE¥EERH - 1,00 99,093.00 99,093
E5:5
B2 EBRRES IR
£ b g - BTk BfF H B i ® # W OE " =
ERHRERE
= 1.00 200, 000. 00 200, 000
= Bt YE¥EERH - 1,00 200, 000. 00 200, 000
ES5:6
2 . RLERMR IR
£ i g - BkTiE BAr H B B M ® # wOE " =
ZEERM FRP D 180PSHE!
=] 20.00 86, 713.00 1,734, 260(6. 00H / 8H
MAH 2E0%
% 0.50 1,734, 260. 00 8. 671
= Bt YE¥EERD - 1,00 1,742, 931.00 1,742,931
&5 .1
A KERERH =P
£ i g - BkTiE BAr H B B M ® # wOE " =
KEREH
i 1.00 9,090.00 9,090
= Bt YE¥EERD - 1,00 9,090.00 9,090




REFT-FEL/ \vr— BE BRI 5 AR b X P2 B (—14m) HiBKRE

ES:8
2% GEREH B
4 b 1548 - BARTR B #H B B @ & # wmE " %
EEREH
= 1.00 19, 090. 00 19, 090
= Bt YE¥EERH - 1,00 19, 090. 00 19,090
ES:9
B IEERE 1xHY
% b 1548 - BARTR B #H B B @ & # wmE %
EZRYUTHRE
= 1.00 37.400.00 37,400
= Bt YE¥EERH - 1,00 37, 400.00 37,400




